ITI Refrigeration and Air Conditioning Technician 2nd Year Module 1
Commercial Compressors

(1). Which fault is to be rectified in aligning compressor and motor? | HUMR 3‘ﬁ?

e B AT B3 | {59 SN Bl 31 a1 a1 82
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(A) Angular misalignment | “HuTg FgferHe

(B) Circular misalignment | W&Iﬂ"%ﬂ:ﬁ?

(C) Parallel misalignment | IR fHafer<ic
(D) Tangential misalignment | SROd faaforc

Correct Answer : C

(2). Which metal is used to coat big end split bearing of connecting rod in open

type compressor? | mmﬁw 3N T3 HUR A dic o7 Us ude
JTRAT 31T Hw T s A fhar Srar g2

(A) White metal | Fa?_c‘{%ﬂﬂ
(B) Bronze | didd
(C) Brass | didd




(D) Zinc | STl

Correct Answer : A

(3). What is the name of part marked X in direct drive coupling of compressor and

motor? | HUTR 3R HIeX & Ude S13d T H x b ®U H fafgd 4RI H19m

(A) Spacers | TR

(B) Crank shaft | shep QIR

(C) Motor shaft | Hlex AMHE

(D) Motor shaft key | HIex M il

Correct Answer : D

(4). What is the function of an oil strainer used in lubrication system of

compressor? | HUTR & W YUITCl! H U dd SR &1 T BT g2
(A) Improve floc point of oil | dd & Tl faig A GUR
(B) Absorb moisture from oil | I I THI &1 AN
(C) Remove impurities from oil | I T 3rfaa fHpTel




(D) Reduce dielectric strength of oil | “cIdl B Gidhdl §31 dldhd HH HY

Correct Answer : C

(5). How the oil strainer’s block is observed in centrifugal compressor system? |

YRS HUTR YUl H o SR T sillch b o ST 87"

(A) Gauge shows low pressure | TS HH dld Ir(\‘(@lldl %

(B) Gauge shows high pressure | o 3 dld Ir(\‘(@lldl %

(C) Gauge indicates very low pressure | T dgd dhH qdld ﬁs’lila W%
(D) Hunting of pointer in pressure gauge | USR o1 | CIVIQ'EQ CANIGEL

Correct Answer : D

(6). Which testing operation is in progress between the flanges of compressor and

motor? | Wﬁﬁa%ﬁw%aﬁaﬁ?muﬂwwmwév

(A) Parallel alignment | JHMIAR @]
(B) Angular alignment | IO HGUT

(C) Tangential alignment | TgRRRET TG]
(D) Circular alignment | URUT GGl

Correct Answer : B



(7). What is the purpose of relief valve in force feed lubricating system? | RIS

IS B Yurmen § Relith dTed H1 3e=d 1 52

(A) Avoids excessive oil pressure | 3P I b <aTd T ST AT §
(B) Remove impurities from oil | dc ¥ 3fGAl (bTel

(C) Supply oil to the strainer | BT ¥ dd DI Y[ B

(D) Supply oil to the pump | GU &I dd &1 3TYfd B

Correct Answer : A

(8). Which compressor uses whirl vein mechanism for controlling capacity? | ﬁ:f

T SR &1 ! (AR B & o &iet 9 ApI-orH BT SUANT BT |72
(A) Scroll | &hId

(B) Rotary | I

(C) Centrifugal | YT

(D) Reciprocating | XTI AT

Correct Answer : C

(9). Which position of the service valve connects all the 3 ports at the same time?

| T aTed ot H1F It FRUf T & g § 94t 3 Uidq &1 Ssdl 82
(A) Backend | 9TTH 3fd

(B) Back seat | UleS &I Hic

(C) Front seat | A &I Uic

(D) Middle seat | H&T HT e

Correct Answer : D



(10). What is the name of property the lowest temperature at that point, oil
ceases to flow? | 3 01 &1 &1 =TH g ford ffg TR <AaH droH= R ad a1
§G g STaT g2

(A) Pour point | IR Ulsc

(B) Flock point | Tl Ulsc
(C) Flash point | PRI Ul
(D) Clog point | I UlsC

Correct Answer : A

(11). Which operation is done to remove air from the system and charging hoses

using Evacuation Charging Unit station? | WW@?WWW
TR Red 3R IO givT J gaT b1 o e 14 11 SITIRR o STl g2

(A) Flushing | TTrRIT

(B) Cleaning | WIS

(C) Pump down | T UT foar
(D) Evacuation | &M

Correct Answer : D

(12). What is the ratio of absolute discharge pressure to absolute suction

pressure? | ’WHWW@W&[WWW WW%?
(A) Clearance volume | IR dlcgd

(B) Compression ratio | YR 3UTd

(C) Volumetric efficiency | AIHICH G&rdl

(D) Mechanical efficiency | Tif3d Gefdl



Correct Answer : B

(13). What is the purpose of purging the refrigeration system components? |

=il YUTTeH & G| ol Y HR BT ST T 82
(A) Remove non-condensable gases | ﬁ?ﬂﬂﬁﬁﬁ@fﬁ@aé
(B) Remove oil contamination | %Wﬁ@a%{

(C) Remove refrigerant | \Ql:hnl\ﬂ\{'d BEIIY

(D) Remove moisture | Ihg%ﬂﬁﬂﬁ

Correct Answer : A

(14). What is the symptoms of poor pumping in Refrigeration commercial

compressor? | IR 1o HRRR H W9 W%E&I’UTW%?
(A) Temperature high in Condenser | eI H agHH 3Hfed

(B) Temperature low in Condenser | ®a-TR H dTUH HH
(C) Temperature low in evaporator | s‘muﬁaﬁamﬂm
(D) Temperature high of Compressor body | HERR die! BT dgHHE I

Correct Answer : B



(15). Which drive of compressor is shown in figure? | o § PR B H
EIECACECIERIEE

(A) Indirect drive | 3UHE ST3d
(B) Direct drive | Y& gIgd
(C) Central drive | Y¢d ST
(D) Middle drive | fifed S1ga

Correct Answer : B

(16). Which compressor has the least volumetric efficiency? | PO HURH HH
T HH diegAfcd Gadl g?

(A) Screw | ¥

(B) Scroll | ®hid

(C) Rotary | et

(D) Reciprocating | XIRTHIh T

Correct Answer : D

(17). Which lubrication system is employed in large reciprocating compressors?

I T} Ve UUTTel 99 T R | FaifSra gt 82




(A) Self lubricating system | me
(B) Gravity feed system | Wﬁmqﬂguvn?ﬁ
(C) Splash feed system | mﬁmuﬁguvn?«ﬁ

(D) Force feed system | B Bis Rred

Correct Answer : D

(18). Which non-positive displacement compressor is used in RAC plants? | RAC

wWie # g TR-IHRIAD (AR HUTR T IGANT fobal STl g2
(A) Screw | ¥p

(B) Scroll | &hId

(C) Centrifugal | YT

(D) Reciprocating | XI_IHTh e

Correct Answer : C

(19). What is the advantage of screw compressor? | ¥¢p GI‘N-CN-R D K WG] %?
(A) More wear and tear | ”W@T—Uﬁ"

(B) Low compression ratio | ]Q"I'H{-iqnls."l S{JUId

(C) Discharge temperature is high | SISk eEIE 3{%%

(D) Low maintenance cost | P H Gd[d I Td

Correct Answer : D

(20). What is the purpose of energizing the crank case oil heater during shut down

period of AC plant? | wwﬁmméﬁm%w &r‘l'weﬁaﬁ
iy B BT T I /7



(A) Avoid oil foaming while restarting plant | Wﬁgﬁ 3R HId I dd
EEERKCE]

(B) Increase miscibility of refrigerant and oil | %Eﬁ( SEE 3'ﬁ? %ﬁ
firedifaferdt o sgre

(C) Decrease water circulation in compressor jacket | HUTR \;abd AU &
GiREeROT H HHt

(D) Reduce refrigerant mass flow rate per ton capacity | gfd e &HdT & SR
ISR E ST UdTg & Bl HH HI

Correct Answer : A

(21). What is the cause of a bearing failure? | Waﬂﬁ'ﬂ A ed BT HRUT T %?

(A) Increased coolant flow | Idad Udie H qf@

(B) Vibrations in the unit | 3Ts H &0
(C) Lack of lubrication | T8 @1 dHI
(D) Load variations | YR Y

Correct Answer : C

(22). What is the effect of defective oil pump in compressor? | Wﬁw
o UY &1 &1 THTT § 2

(A) Consumes more oil | 3P I BT T Bl %

(B) Damage the compressor | O'bCIHQﬁjObHH
(C) Oil becomes contaminated | %@m@m%
(D) Compressor efficiency decreases | @QHQ@@HJ&IH(‘IIWW%

Correct Answer : B



(23). What term used while inevitable clearance necessary between the three end

tips of the scroll vanes and the baseplates? | ThId o ﬁ?éﬂ'@lﬁ%?ﬂ:{
3ifaH RRI & 9 SUEr FAlay Taa® gH IR by sg &I IYTNT fohd
ST ]2

(A) Port leakage | UIC @il
(B) Axial leakage | TfRITd Tichol
(C) Radial leakage | XfSTd el
(D) Vane leakage | 91 Gifdool

Correct Answer : B

(24). What is the effect of faulty shaft seal in a reciprocating compressor? | U

AR HUR H gyl <Mde Hd &1 yuTd 8T 82
(A) High discharge pressure | 3= fAdg gara

(B) Refrigerant leakage |Wﬁqﬁ

(C) Oil level raises | Ocl &1 TR 9¢ SIldl &

(D) Piston stick | ﬁlﬁﬁw

Correct Answer : B




(25). Which gasket is used for service valve fitting? | WWW$W
{9 e o1 IuaNT a1 STaT 82

.@O

(A) 1
(B) 2
(C) 3
(D) 4

Correct Answer : C

(26). Which instrument is used to check the belt alignment of a compressor with
motor? | HIE & HIY HUIR o T SHAAISTHE Pl olid o (elT fov s SUBUT 1
ST a1 STt 62

(A) Sprit level | T&Ie @ad

(B) Micrometer | ATSShIHIC

(C) Straight edge | ¥ TSH

(D) Vernier caliper | aFoR Helqd

Correct Answer : C




(27). What is the cause of significant fall in oil pressure? | 31ad & gard H

eI fIRTaT 1 SR 152

(A) Oil pump defective | 31gd g feshfaca

(B) Reed valve defective | s d1ed fetfaea

(C) Discharge valve defective | e ared fetfaed
(D) Suction valve defective | a9 dled [gWhided

Correct Answer : A

(28). Which one is oil ring groove shown in piston figure? | fOxe e ¥ feaman
1 3T R @ S A1 e

—

(A) Z
(B) X
(C) W
(D) Y



Correct Answer : B

(29). What material is used to manufacture a single-stage centrifugal type

compressor shaft and impeller? | W@W@@WE@WW@T
SR o AT & oY ford ArTelt 1 SuanT forat ST 82

(A) Castgun metal | ®RE 79 Hed
(B) Cast brass | hIc oY
(C) Castlron | hI¥C AR

(D) Cast aluminium | ’WW”

Correct Answer : D

(30). Which valves are used for pump down operation in a refrigeration system? |

URfta= uTelt & UY 13 TR & ol 19 T dTed BT SUTNT fobdT &ITdT 82
(A) Check valves | dlc'd\lﬁ\ﬂ\ild G

(B) Solenoid valves | Fil@l:lvlﬁg?ﬁ?q’
(C) Poppet valves | Uige dicd

(D) Service valves | gfdy e

Correct Answer : D

(31). What is the effect of hot gas bypass method as a capacity control on

compressor? | HUTR TX & = & U A 79 19 Sru fafy o1 e uHe
g?

(A) High discharge temperature | Wﬁé@qﬂmﬂ
(B) Cylinder head over heating | Rreiax %_5' 3R g”éll
(C) High power consumption | 3 foTell &1 wud



(D) Less oil return | HH dd aTat

Correct Answer : B

(32). Which compressor employs suction valve lifting mechanism for capacity

control? | 1 AT HUIR & FE=01 & for Fam dred forfte 9 &1 fAgaa
HRAT8?

(A) Screw | ¥

(B) Rotary | e

(C) Centrifugal | HeITRIITA
(D) Reciprocating | IrIUI eI

Correct Answer : D

(33). Which part of the reciprocating compressor enhances both speed and

efficiency? | TANTH! HHEIGR BT DI JT HFT i 3R T&idT 1 b1 Ieidl 82
(A) Piston | fU%H

(B) Seal | Hidl

(C) Bearing | faaf

(D) Valve | dTed

Correct Answer : C

(34). Why crank case heater is used in the Refrigeration & air conditioner
compressor oil sump? | ITPORT 3R TR H IR FERR HId I | shep

Y BIex BT IUUNT ! {1 ST 82
(A) Improve lubricity of oil | mﬁ@ﬁﬂﬁﬁiﬂ?




(B) Minimise refrigerant being absorbed in the oil | 3rad H mﬁaaﬁaﬁ
RATHORC Bl HH DY

(C) Improve miscibility property of oil | &mﬁﬁmmﬁﬁ%ﬂ?ﬁ
(D) Improve viscosity of oil | Wﬁﬁﬁ%ﬁﬁw

Correct Answer : B

(35). What is the cause of high suction pressure in a reciprocating compressor?

TH IRTNHET HIR T I JRI a9 BT HIRU] FT g2
(A) High supply voltage to motor | HicX I 3 @ﬂ'{%m
(B) Worn out valve reeds | Wﬁ‘s’ﬁwﬁmaﬁm

(C) Leaky gaskets | gddl The

(D) Beltloose | SeT eret

Correct Answer : B

(36). How to perfectly align the base of direct drive compressor and motor

assembly? | SERAC T[T HHRIRR 3R HICR ST b YR B 1T IR I hd
TRRIT P2
(A) Sprit level and Plaster | f&Ic TR 3R WX

(B) Sprit level and Concrete | fBre TR SR Feple

(C) Sprit level and Wooden piece | f8IC Tad 3R A S| B cH Sl

(D) Sprit level and Metal shims | f&1e diad 3R Aed g

Correct Answer : D



(37). Which type of compressor shown in figure? | 7§ [ TR BT HERR
famar M g?

fr—]

(A) Centrifugal | @@W
(B) Scroll | ThId

(C) Screw | ¥p

(D) Reciprocating |W

Correct Answer : A

(38). What is the volumetric efficiency of a compressor if the actual discharge is 4
CFM and calculated (Theoretical) discharge is 5CFM? | ”‘J%WW%FHGM
cFm 3R aReferd (AiRfewa) fSwrsSt scrm § o T SRR &1 dicgifcd
I T G

(A) 0.9
(B) 0.8
(C) 0.7
(D) 0.6



Correct Answer : B

(39). Which type of valve is used as service valve in suction line? | T NIER! H

gfaY dled & =0 | [T UBR & dled BT IUANT fooa1 Sirar g2
(A) Solenoid valve | @ﬁ%?ﬂa

(B) Two way valve | ﬁﬂ?@'ﬁa'lc'_d
(C) Three way valve | ?ﬁ:f?ﬂ_t{ﬁa'lc’_d

(D) Four way valve | dIR d{'éﬁdlc’d

Correct Answer : C

(40). Which Commercial compressor is equipped with shaft, cylinder and piston
assembly along with other accessories? | I T AP HFERR 39 gD
JUHT & JrY e, Ryeie 3R e sRigeh I quferd 82

(A) Reciprocating compressor | Ul HRRIR

(B) Screw, scroll type compressor | ¥p, Thid GEE HERR
(C) Scroll compressor | ThId BRI

(D) Screw compressor | @W

Correct Answer : A

(41). Which gasket comprises a mix of metallic and filler material. Generally the
gasket has a metal wound outwards in a circular spiral? | g e A Yrd 3R
URTG R 1 FHr8/07 T § 1 S dR IR e J MAarhR Aid 8 S1gR &1

3R YT T UG BT 87
(A) Spiral wound gaskets | THIgR ¢l dI3S ‘Il%abq{-l

(B) Solid material gaskets | ﬂﬁ%‘l—éﬂ%ﬁ'ﬁlﬁw




(C) Sheet gaskets | Tfic MRbe
(D) Constant seating stress gaskets | Hice it @HW

Correct Answer : A

(42). When will the volume of suction vapour fill the cylinder? | WW@W
RYeisr o e Wi

(A) During both stroke | =G| *&g\lcb & C?IQI"I

(B) During discharge stroke | Irg{-tllviig\ld‘J%C?RH

(C) During suction stroke | HaR[ *&Q\IOIO & C?NI"I

(D) During exhaust stroke | Q‘Ui\IJ%C *&Q\IOIO & C?NI"I

Correct Answer : C

(43). What is the name of part marked X used for mounting compressor base? |

I¢d HUTR 99 P forT ST fosT 7T HRT X BT =TH 1 82

(A) “O” ring | "0" 3T

(B) C-clamp | %ﬁ-a%u



(C) Packing sheet | Wﬁﬂf
(D) Shims | Ry

Correct Answer : D

(44). What is the desirable property of lubricating oil used in a refrigeration

compressor? | TRITAA HUR T IULNT b T S a1t AfAB R ddd BT aig=id o1
AT R?

(A) Viscosity level | Tad famo= &R
(B) Hygroscopic with refrigerant | QEE( ISINe & 91y SI‘&H\IW\I‘I’qw

(C) Immiscible with refrigerant | QEE( IoRe & I1y faafola
(D) Flammability level IWQNG(‘IIWW

Correct Answer : A

(45). Which valve consist of a valve seat, ring plates, valve springs and retainer? |

for aTed o aTea Hie, R wie, ared f8i iR ReR 8Id 82
(A) flexing valve | Ui aTed

(B) Exhaust valve | F&Tg dled

(C) Ring plate valves | R &ic dred

(D) Poppet valves | GIU< dTed

Correct Answer : C

(46). What is the advantage of direct drive over belt drive in drive system of
compressors? | HHIR & I12d Red T dec S2d IR YIE S12d &1 1 BIUG]

87

(A) Require more components | 3HYH geh! B G{WT%




(B) Occupies more space | WWW%
(C) More transmission loss | 31f¥ep GeRur g1
(D) No transmission loss | ﬁé EA'IF”]\-IQI:I a"mqﬁr

Correct Answer : D

(47). What is the name of process while finishing the surface of valve plates very
fine and accurate, so that there will be no small scratches in the finished surface?

| dTcd Wiel &1 Tdg ! 9gd TRIP AR TIH Al W TH B P UfehaT BT
TH 1 8, M IR a8 R BIs BIct WRId 1 3g?

(A) Valve rubbing | dled XISl
(B) Valve grinding | W‘;I'I_{%"T
(C) Valve honing | qred AT
(D) Valve lapping | giue dicd

Correct Answer : D

(48). What is the purpose of clearance volume in a reciprocating compressor? |

TP JIHIT HUMR & [Ty ITqH T I R 8?

(A) Prevent damages of piston and valve plate | fReT IR TT@ We & RCIE|

DI

(B) Control discharge pressure | Wﬁé@qm
(C) Free movement of piston | e &1 Had JHIdNTHA
(D) Cylinder head cooling | eI RR da1

Correct Answer : A



(49). Which part is fixed on a rotating shaft of centrifugal compressor? |

AR HUR o o M R S A1 e fhay fpar man g
(A) Piston | e

(B) Scroll | ThI1d
(C) Impeller | sﬁw
(D) Screw | ¥p

Correct Answer : C

(50). Why the rotary compressor is used instead of reciprocating compressor as a

vacuum pump? | e HUMR I élcl'ljj-l UY o 30 H IYIh T HUTR Bl
SUTNT 1 ot STl g2

(A) Piston movement is less | foe WW%
(B) Low pulling power | S Wia- dTal Uad

(C) No clearance volume | Wﬁqﬁﬂqﬁ

(D) Damages valves | ”Ollcfdﬁjcbi-ll"l u§dIdI%

Correct Answer : C



